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Run 6056 quartetwise, posH(O: Beam DH

— Laser ON Entries: 71012 Entries: 53416 aam1_1ach._pocHo
[ Mean: 14.0610 +- 0.0024 Mean: 3.1061 +- 0.0015 53416
— Laser OFF Std Dev: 06461 +- 0.0017 | Std Dev: 0.3425 +/- 0.0010 3.106
— S0 DBV 0.3425
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Run 6056 quartetwise, asymOsub: Beam ON

— Laser ON Entries: 71012 Entries: 53416

— Mean: -31.9197 +- 00856 | Mean: -0.0526 +- 0.0757

- Laser OFF Std Dev: 228577 +- 0.0607 | Std Dev: 17.5067 +- 0.0536
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Run 6056 quartetwise, negHO: Beam DIN

- R aami_lasl nagHD
—— - LEEET GN Entries: 71012 Entriez: 53416
— Mean: 14.7826 +/- 0.0025 Mean: 31073 «- 0.0015 53416
— — Laser OFF Std Dev: 0.6708 +/- 0.0018 | Std Dev: 0.3416 +- 0.0010 3.107
[ oo 0.34186
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-------- Histogram Vars

Positive Hel (ON): 14.061038 +/- 0.002425
Negative Hel (ON): 14.782621 +/- 0.002517
Positive Hel (OFF): 3.106114 +/- 0.001482
Negative Hel (OFF): 3.107304 +/- 0.001478
-------- Sums and Diffs

On Diff: -0.721583 +/- 0.001935

Off Diff: -0.001191 +/- 0.001714
On Sum: 28.843660 +/- 0.004548

Off Sum: 6.213418 +/- 0.002413
-------- Asymmetries
On Asym: -31.885773 +/- -0.085832 (ppt)
Off Asym: -0.052607 +/- -0.075748 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.630242 +/- 0.005149
BkSub Asym: -31.833166 +/- 0.114477 (ppt)




asym (AccO) / ppt

Run 6056 quartetwise, posHO vs time
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Run 6056 quartetwise, asymQsub vs time
50

0

-50
—mn?.ﬁ
—150 N T T T T T T T T T A T A O T B B B

«10°

*10

160 180 200

Entryd

20 40 60 B0 100 120 140

negHOD

bem

A g Illllllllllll
_- ,_.H-?_:. :._ =4 |
T N TR [ TR '!li:
a Bt
A T A
B R | o -
A1 T T
E;_ I LR®S: | [ | e ;
D_Illllll|III|III|III|III|III|III|III|III|III
0 20 40 60 BO 100 120 140 160 180 200
Entry$
Run 6056 gquartetwise, bcm vs time
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Run 6056 quartetwise, negHO0 vs time
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